WLS-DIS-Daily (2/20/2017 12:00:00 AM - 2/21/2017 12:00:00 AM 24 / 7)

. Average Uptime Good

Probe, Group, Device Sensor Total Downtime Failed
£4127.0.0.1 (Local Probe)
= 100 %I [19h9m41s 100 % M 385]
='NWOCA HTTP 180 msec 0% [0 0%l
il internet
£$127.0.0.1 (Local Probe)
= 100 %I [19h9m50s 100 %I[385]
='NWOCA HTTP 38 msec 0% [0 0% Mo
EPowerSchool - Office Side
£$127.0.0.1 (Local Probe)
»
= 100 % [19h9m57s 100 % M|[385]
='NWOCA HTTP 40 msec 0% [0 0% Mo
»
EPowerSchool - Teacher
£4127.0.0.1 (Local Probe)
»
= 100 % [19h10m4s 100 % M|1385]
="NWOCA HTTP 61 msec 0% [0s 0% M0]
»
EPowerSchool - Parent / Student
£$127.0.0.1 (Local Probe)
»
= 100 % [19h10m32s 100 % M|1385]
=5-Server Room PING 0 msec 0% [0s 0% M)
»
[ JBarracuda wis-Noc-001
E 127.0.0.1 (Local Probe)
»
= 100 % [19h10m37s 100 % M|1385]
=5 Server Room HTTP 213 msec 0% [0s 0 %Mo)
»
[[TJBarracuda WLs-NOC-001
£%127.0.0.1 (Local Probe)
»
= 100 % [19h10m46s 100 % M|1385]
= Server Room PING 0 msec 0% [0s 0 %Mo)
»
[[TJBarracuda wis-NoC-012
E 127.0.0.1 (Local Probe)
= 100 %I [19h7m51s 100 %I[384]
=" Server Room HTTP 191 msec 0% [0s 0 %M
[[TJBarracuda wis-Noc-012
E 127.0.0.1 (Local Probe)
= 100 %I [19h10m4s 100 %I[sss]
= Server Room PING 0 msec 0% [0s 0 %Mo)
[ cafe
£%127.0.0.1 (Local Probe)
= 100 %I [19h9m49s 100 %I[sss]
= Server Room HTTPS 71 msec 0% [0s 0 %Mo)
[ cafe
£4127.0.0.1 (Local Probe)
= 100 %I [19h10m27s 100 %I[sss]
=5-Server Room PING 0 msec 0% [0s 0 %Mo)
== CPS
$127.0.0.1 (Local Probe)
= 100 %I [18h7m34s 100 %I[365]
=5-Server Room PING 0 msec 0% [0s 0% M|[0]
I DNS: DNSDHCP
£$127.0.0.1 (Local Probe)
»
= 100 %I [18h7m29s 100 %I[365]
=5-Server Room DNS 1 msec 0% [0s 0% W01
»
E=IDNS: DNSDHCP
£$127.0.0.1 (Local Probe)
»
= 100 % [18h5m9s 100 % 364
=5-Server Room PING 0 msec 0% [0s 0% M0]
»
E=IDNS: DNSDHCP2
£$127.0.0.1 (Local Probe)
»
= 100 % [18h5m4s 100 % M| 364]
=5-Server Room DNS 1 msec 0% [0s 0% M)
»
E=IDNS: DNSDHCP2
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»

Eliprint-hs

. Average Uptime Good

Probe, Group, Device Sensor Total Downtime Failed
£4127.0.0.1 (Local Probe)
= 9 9
= Server Room 100 % [19h7m55s 100 % |[[384]
N PING 0 msec 0 %I [0s 0 %Mo)
EEIECOPY
E 127.0.0.1 (Local Probe)
»
= 100 % [19h9m57s 100 % M|[385]
= Server Room PING 0 msec 0% [0s 0% M|0]
»
[ESIELEARN
££127.0.0.1 (Local Probe)
»
= 100 % [19h10m2s 100 % M|[385]
= Server Room HTTP 9 msec 0% [0s 0% Mo
»
[ESIELEARN
E 127.0.0.1 (Local Probe)
= 99.739 %I [19h4m53s 98.961 %I[381]
= Server Room PING 0 msec 0.261 % [3mos 1.039 % M| 14]
ESIELEARN 2 Linux
E 127.0.0.1 (Local Probe)
= 100 %I [18h59m52s 99.476 %I[ssm
= Server Room HTTP 6 msec 0% 0s 0.524 % M2
EEIELEARN 2 Linux
£4127.0.0.1 (Local Probe)
= 100 %I [19h11m26s 99.482 %I[384]
= Server Room PING 0 msec 0% [0s 0.518 % M2
=Filr
£2127.0.0.1 (Local Probe)
= 100 %I [19h8m7s 100 %I[384]
=5-Server Room HTTPS 100 msec 0% [0s 0% M0
iFilr
£2127.0.0.1 (Local Probe)
= 100 %I [19h8m16s 100 %I[384]
=5-Server Room PING 0 msec 0% [0s 0% W01
=51 GALAXY-CS
£2127.0.0.1 (Local Probe)
»
= 100 %I [19h10m6s 100 %I[sss]
=5-Server Room PING 2 msec 0% [0s 0% |01
»
==l Gateway
£2127.0.0.1 (Local Probe)
»
= 100 % [19h10m13s 100 % §|[385]
=5-Server Room PING 0 msec 0% [0s 0% M|0]
»
=51 |EP
£2127.0.0.1 (Local Probe)
»
= 100 % [19h8m14s 100 % §|[384]
=5-Server Room PING 0 msec 0% [0s 0% M|0]
»
E==liprint-central
E 127.0.0.1 (Local Probe)
»
= 100 % [19h8m19s 100 % H|[384]
=5 Server Room HTTP 8 msec 0% [0s 0% M|0]
»
Efiprint-central
££127.0.0.1 (Local Probe)
»
= 100 % [19h8m35s 100 % M|[384]
= Server Room PING 0 msec 0% [0s 0% Mo
»
Efiprint-east
E 127.0.0.1 (Local Probe)
= 100 %I [19h8m40s 100 %I[384]
=" Server Room HTTP 7 msec 0% [0s 0 %Mo)
Efiprint-east
E 127.0.0.1 (Local Probe)
= 100 %I [19h8m21s 100 %I[384]
= Server Room PING 0 msec 0% [0s 0% M0
Eliprint-hs
£4127.0.0.1 (Local Probe)
= 100 %I [19h8m26s 100 % §|[384]
= Server Room HTTP 8 msec 0% [0s 0% M0
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. Average Uptime Good

Probe, Group, Device Sensor Total Downtime Failed
£%127.0.0.1 (Local Probe)
= 100 %I [19h8m28s 100 % M|[384]
= Server Room PING 0 msec 0% [0s 0% M0
Eliprint-west
£4127.0.0.1 (Local Probe)
= 100 %I [19h8m33s 100 %I[384]
=5-Server Room HTTP 8 msec 0% [0s 0% M0
Esliprint-west
£$127.0.0.1 (Local Probe)
= 100 %I [19h6m43s 100 %I[384]
=5-Server Room PING 0 msec 0% [0s 0% M|0]
=1k 1000
£$127.0.0.1 (Local Probe)
»
= 100 %I [19h6m48s 100 %I[384]
=5-Server Room HTTP 97 msec 0% [0s 0% M|0]
»
=1k 1000
£$127.0.0.1 (Local Probe)
»
= 100 % [19h7m48s 99.481 % [[1383]
=5-Server Room PING 0 msec 0% [0s 0.519 % |21
»
Bl | 7
£4127.0.0.1 (Local Probe)
»
= 100 % [19h10m41s 100 % M|1385]
=5-Server Room PING 0 msec 0% [0s 0% M|0]
»
Ellanschoolcs
E 127.0.0.1 (Local Probe)
»
= 100 % [19h9m29s 100 % M|1385]
=5 Server Room PING 0 msec 0% [0s 0% M|0]
»
=l | dap
£%127.0.0.1 (Local Probe)
»
= 100 % [19h9m34s 100 % M|1385]
=" Server Room LDAP 4 msec 0% [0s 0 %Mo
»
B [dap
£%127.0.0.1 (Local Probe)
»
= 100 %I [19h9m38s 100 %I[sss]
= Server Room PING 0 msec 0% [0s 0% Mo
[2]Ls-ROCKET (Lightspeed)
E 127.0.0.1 (Local Probe)
= 100 %I [19h9m43s 100 %I[sss]
= Server Room HTTPS 96 msec 0% [0s 0% M0
[2]Ls-ROCKET (Lightspeed)
£%127.0.0.1 (Local Probe)
= 100 %I [19h8m56s 100 %I[384]
= Server Room PING 0 msec 0% [0s 0% M0
Eflpapercut
£4127.0.0.1 (Local Probe)
= 100 %I [19h8m59s 100 %I[sss]
=5-Server Room HTTPS 146 msec 0% 0s 0% M0
Erlpapercut
£4127.0.0.1 (Local Probe)
= 100 %I [19h5m49s 100 %I[383]
=5-Server Room PING 0 msec 0% [0s 0% M|0]
il printshop
£4127.0.0.1 (Local Probe)
= 100 %I [19h5m53s 100 %I[383]
=5-Server Room HTTPS 131 msec 0% [0s 0% |01
»
==l printshop
£$127.0.0.1 (Local Probe)
»
= 100 % [19h8m23s 100 % M|1384]
=5-Server Room PING 0 msec 0% [0s 0% M|10]
»
=51 printTracker
£$127.0.0.1 (Local Probe)
»
= 100 % [19h10m39s 100 % M|1385]
=5-Server Room PING 6 msec 0% [0s 0% M|0]

»

EldServer Room Environment
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. Average Uptime Good

Probe, Group, Device Sensor Total Downtime Failed
£4127.0.0.1 (Local Probe)
= 100 %I [19h10m44s 100 % |[385]
= Server Room HTTP 208 msec 0% [0s 0% M0
ElIServer Room Environment
£2127.0.0.1 (Local Probe)
=S 100 % I 9
=5-Server Room /o [19h10m25s 100 % [[385]
N PING 0 msec 0% [0s 0% M0
£2 sonicWall RAT
£2127.0.0.1 (Local Probe)
= 100 %I [19h10m30s 100 %I[385]
=5-Server Room HTTPS 58 msec 0% [0s 0% W01
B2 SonicWall RAT
£2127.0.0.1 (Local Probe)
»
= 100 %I [19h13m15s 100 %I[386]
=5-Server Room PING 0 msec 0% [0s 0% M|0]
»
==l staff2
£2127.0.0.1 (Local Probe)
»
= 100 % [19h13m20s 100 % §|[386]
== Server Room Staff User Folder 0 Byte 0% [0 0% Mo
»
==l staff2
£2127.0.0.1 (Local Probe)
»
= 100 % [19h13m23s 100 % §|[386]
== Server Room Staff Shared Folder 0 Byte 0% [0s 0% Mo
»
==l staff2
E 127.0.0.1 (Local Probe)
»
= 100 % [19h9m59s 100 % M|[385]
= Server Room PING 0 msec 0% [0s 0 %Mo)
»
Student Server (Old)
§$127.0.0.1 (Local Probe)
»
= 100 % [19h10m8s 100 % M|[385]
= Server Room PING 0 msec 0% [0s 0% M0
»
Exlstudent2
E 127.0.0.1 (Local Probe)
= 100 %I [19h10m13s 100 %I[sss]
=" Server Room Student Folders 0 Byte 0% [0s 0% M|0]
Exlstudent2
E 127.0.0.1 (Local Probe)
= 100 %I [19h10m16s 100 %I[sss]
= Server Room Students Shared Folder 0 Byte 0% [0s 0% M|0]
Efstudent2
£4127.0.0.1 (Local Probe)
= 100 %I [19h9m52s 100 %I[385]
= Server Room PING 0 msec 0% [0s 0% M0
[ tech
£2127.0.0.1 (Local Probe)
= 100 %I [19h10m27s 100 %I[sss]
=5-Server Room PING 0 msec 0% [0s 0% M0
[==ltech2
£2127.0.0.1 (Local Probe)
= 100 %I [19h10m29s 100 %I[385]
== Server Room Tech Resources Folder 0 Byte 0% [0s 0% Mo
[==ltech2
£2127.0.0.1 (Local Probe)
»
= 100%' [19h10m11s 100%'[385]
=5-Server Room PING 0 msec 0% [0s 0% M|0]
»
[==ltransportation
£2127.0.0.1 (Local Probe)
»
= 100 % [19h10m16s 100 % §|[385]
=5-Server Room HTTP 7 msec 0% [0s 0% M|0]
»
[==ltransportation
£2127.0.0.1 (Local Probe)
»
= 100 % [19h10m18s 100 % §|[385]
=5-Server Room PING 0 msec 0% [0s 0% M|0]
»
E=ltran-sql
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. Average Uptime Good

Probe, Group, Device Sensor Total Downtime Failed
£4127.0.0.1 (Local Probe)
= 100 %I [19h10m23s 100 % B|[385]
= Server Room HTTP 7 msec 0% 0s 0% M0
[l tran-sql
£2127.0.0.1 (Local Probe)
= 100 %I [19h8mOs 100 %I[384]
=5-Server Room PING 0 msec 0% [0s 0% M0
EElUptime
£2127.0.0.1 (Local Probe)
=N 100 % 19h8m5 100 % [ll| 384
=5-Server Room HTTP 1 00 % [ mb5s 00 % J|[. ]
) 86 msec 0% [0s 0 % M|10]
EElUptime
E 127.0.0.1 (Local Probe)
= 100 %I [19h8m2s 100 %I[384]
= Server Room PING 0 msec 0% [0s 0% M0
EEVPU 1
E 127.0.0.1 (Local Probe)
= 100 %I [19h9m50s 100 %I[385]
= Server Room PING 0 msec 0% [0s 0% M0
=l wis-ldap
£4127.0.0.1 (Local Probe)
= 100 %I [19h9m55s 100 %I[sss]
= Server Room HTTP 7 msec 0% [0s 0% M0
=l wis-ldap
£2127.0.0.1 (Local Probe)
= 100 %I [19h8m42s 100 %I[384]
=5-Server Room PING 0 msec 0% [0s 0% M0
==l wls-vel
£2127.0.0.1 (Local Probe)
= 100 %I [19h8m47s 100 %I[384]
=5-Server Room HTTPS 15 msec 0% [0s 0% W01
==l w ls-vel
£2127.0.0.1 (Local Probe)
»
= 100 %I [19h10m20s 100 %I[sss]
=5-Server Room PING 0 msec 0% [0s 0% M|0]
»
EEIWLS-VCMGMTI1
£2127.0.0.1 (Local Probe)
»
= 100 % [18h8m52s 100 % §|[365]
=5-Server Room PING 0 msec 0% [0s 0% M|10]
»
E==lzenworks11
£2127.0.0.1 (Local Probe)
»
= 100 % [18h8m47s 100 % §|[365]
=5-Server Room RDP (Remote Desktop) 15 msec 0% [0s 0% M|0]
»
E==lzenworks11
E 127.0.0.1 (Local Probe)
»
= 100 % [19h6m3s 100 % H|[384]
= Server Room PING 0 msec 0% [0s 0 %Mo)
»
|@Zone Director Server (WiFi Controller)
££127.0.0.1 (Local Probe)
»
= 100 % [19h6m8s 100 % M|[384]
= Server Room HTTPS 55 msec 0% [0s 0% Mo
»
|@Zone Director Server (WiFi Controller)
££127.0.0.1 (Local Probe)
= 100 %I [19h10m10s 100 %I[sss]
=5'Greenwood ES PING 2 msec 0% [0s 0% M|0]
&2 GREE-IDF
E 127.0.0.1 (Local Probe)
= 100 %I [19h10m3s 100 %I[sss]
=5 Greenwood ES PING 1 msec 0% [0s 0% M|0]
% GREE-MDF
£4127.0.0.1 (Local Probe)
= 100 %I [19h5m51s 100 % [383]
=5 Greenwood ES PING 6 msec 0% [0s 0% M|0]
B3 GREE-SW TC-W IRELESS
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. Average Uptime Good

Probe, Group, Device Sensor Total Downtime Failed
£%127.0.0.1 (Local Probe)
=, 100 %I [19h10m38s 100 % M 385]
= Hiawatha ES PING 2 msec 0% [0s 0% M|0]
2% HIAW -IDF
£4127.0.0.1 (Local Probe)
. 100%' [19h10m31s 100%'[385]
= Hiawatha ES PING 3 msec 0% [0s 0% M|0]
28 HIAW -MDF
£4127.0.0.1 (Local Probe)
= 100 %I [19h5m58s 100 %I[383]
= Hiawatha ES PING 4 msec 0% [0s 0%Mo
B0 HIAW -SW TC1-W IRELESS
£$127.0.0.1 (Local Probe)
»
= 100 % [19h6m5s 100 % M|[384]
= Hiawatha ES
N PING 0 msec 0% [0s 0% M|0]
B0 HIAW -SW TC2-W IRELESS
£4127.0.0.1 (Local Probe)
»
= 100 % [19h9m35s 100 % M| 385)
=5-Jackman ES PING 2 msec 0% [0s 0% M|0]
»
&8 JACK-IDF
£$127.0.0.1 (Local Probe)
»
= 100 % [19h9m49s 100 % l385]
=5-Jackman ES PING 3 msec 0% [0s 0% M|0]
»
&8 JACK-MDF
E 127.0.0.1 (Local Probe)
»
= 100 % [19h9m42s 100 % M|1385]
="Jackman ES PING 1 msec 0% [0s 0 %Mo)
»
2 JACK-MODULAR
£%127.0.0.1 (Local Probe)
»
= 100 % [19h6m12s 100 % M|1384]
=5'Jackman ES PING 4 msec 0% [0s 0% Mo
»
B9 JACK-SWTC1-W IRELESS
E 127.0.0.1 (Local Probe)
= 100 %I [19h9m19s 100 %I[sss]
=5'Jackman ES PING 0 msec 0% [0s 0% M0
B JACK-SWTC2-W IRELESS
E 127.0.0.1 (Local Probe)
= 100 %I [19h9m26s 100 %I[sss]
=5'Jackman ES PING 1 msec 0% [0s 0% M|0]
£ )ACK-SW TC3-WIRELESS
£%127.0.0.1 (Local Probe)
= 100 %I [19h7m52s 100 %I[384]
=" McGregor ES PING 1 msec 0% [0s 0% M0
2% MCGR-IDF
£4127.0.0.1 (Local Probe)
= 100 %I [19h10m45s 100 %I[sss]
=" McGregor ES PING 2 msec 0% [0s 0% M0
4 MCGR-MDF
£4127.0.0.1 (Local Probe)
= 100%' [19h10m1s 100%'[385]
= McGregor ES PING 2 msec 0% [0s 0% M|0]
B M CGR-SWTC1-WIRELESS
£$127.0.0.1 (Local Probe)
»
= 100 %I [19h10m8s 100 %I[sss]
= McGregor ES PING 0 msec 0% [0s 0% |01
»
B M CGR-SWTC2-WIRELESS
£4127.0.0.1 (Local Probe)
»
= . 100 % [19h6m2s 100 % | 384]
= Meadowvale ES Ping 1 msec 0% [0s 0% M|0]
»
&8 MEAD-IDF
£$127.0.0.1 (Local Probe)
»
= . 100 % [19h5m55s 100 % [l 383]
= Meadowvale ES Ping 2 msec 0% [0s 0% M|0]
»
4 MEAD-MDF
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. Average Uptime Good

Probe, Group, Device Sensor Total Downtime Failed
£%127.0.0.1 (Local Probe)
= 100 %I [19h10m15s 100 % [ll|385]
=5 Meadowvale ES PING 5 msec 0% [0s 0% M|0]
EA MEAD-SWTCT-WIRELESS
£4127.0.0.1 (Local Probe)
= 100 %I [19h10m22s 100 %I[sss]
= Meadowvale ES PING 4 msec 0% [0s 0% M|0]
B MEAD-SW TC2-W IRELESS
£4127.0.0.1 (Local Probe)
= . 100 %I [19h9m30s 100 %I[385]
= MonacES Ping 1 msec 0% [0s 0% W01
4 MONA-IDF
£$127.0.0.1 (Local Probe)
»
= . 100 %I [19h9m23s 100 %I[sss]
= MonacES Ping 2 msec 0% [0s 0% M|0]
»
4 MONA-MDF
£$127.0.0.1 (Local Probe)
»
(] o )
= Monac ES 100 % [19h10m29s 100 % [ll|385)
=
N PING 4 msec 0% [0s 0 %Mo)
B MONA-SWTC1-W IRELESS
£%127.0.0.1 (Local Probe)
= 100 %I [19h10m36s 100 %I[sss]
="MonacES PING 5 msec 0% 0s 0% M0
A MONA-SWTC2-W IRELESS
£4127.0.0.1 (Local Probe)
= . 100 %I [19h8mé6s 100 %I[384]
=-Shoreland ES Ping 1 msec 0% [0s 0% M|0]
&8 SHOR-IDF
$127.0.0.1 (Local Probe)
= . 100 %I [19h7m59s 100 %I[384]
== Shoreland ES Ping 1 msec 0% [0s 0%Mo
&8 SHOR-MDF
$127.0.0.1 (Local Probe)
»
= 100 %I [19h10m43s 100 %I[sss]
=5-Shoreland ES PING 5 msec 0% [0s 0%Mo)
»
B SHOR-SWTC1-W IRELESS
£$127.0.0.1 (Local Probe)
»
= 100 % [19h7m50s 100 % [ll| 384
=5-Shoreland ES PING 1 msec 0% [0s 0% M|10]
»
B SHOR-SW TC2-W IRELESS
£$127.0.0.1 (Local Probe)
»
= . 100 % [19h9m16s 100 % M 385]
= Wernert ES Ping 2 msec 0% [0s 0% M|0]
»
&8 WERN-IDF
E 127.0.0.1 (Local Probe)
»
= . 100 % [19h6m9s 100 % [ll|3841
= Wernert ES Ping 2 msec 0% [0s 0% M|0]
»
% WERN-MDF
£%127.0.0.1 (Local Probe)
»
= 100 % [19h7m57s 100 % [ll|384]
= Wernert ES PING 5 msec 0% [0s 0% Mo
»
B3 W ERN-SWTC1-WIRELESS
£%127.0.0.1 (Local Probe)
»
= 100 %I [19h8m4s 100 %I[384]
=-Wernert ES PING 4 msec 0% [0s 0% M0
B3 W ERN-SWTC2-W IRELESS
E 127.0.0.1 (Local Probe)
= . 100 %I [19h10m26s 100 %I[sss]
= Jefferson JH Ping 2 msec 0% [0s 0% M0
2% JEFF-IDF-2
£%127.0.0.1 (Local Probe)
= . 100 %I [19h10m40s 100 % [ll|385]
=" Jefferson JH Ping 1 msec 0% [0s 0% M|0]
9% JEFF-IDF3
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. Average Uptime Good

Probe, Group, Device Sensor Total Downtime Failed
£%127.0.0.1 (Local Probe)
= . 100 %I [19h10m19s 100 % [ll|385]
=" Jefferson JH Ping 2 msec 0% [0s 0% M|0]
2% JEFF-MDF-1
£4127.0.0.1 (Local Probe)
= . 100 %I [19h10m33s 100 %I[sss]
=" Jefferson JH Ping 2 msec 0% [0s 0% M|0]
D% JEFF-MDF-2
£4127.0.0.1 (Local Probe)
= 100 %I [19h9m33s 100 %I[385]
=" Jefferson JH PING 3 msec 0% [0s 0% Mo
= JEFF-SWTCT-WIRELESS
£$127.0.0.1 (Local Probe)
»
= 100 %I [19h9m40s 100 %I[sss]
=" Jefferson JH PING 6 msec 0% [0s 0% Mo
»
1 JEFF-SW TC2-W IRELESS
£$127.0.0.1 (Local Probe)
»
2,
= Jefferson JH 100 %I [19h9m47s 100 %I[sss]
= PING 2
N msec 0% [0s 0% M[0]
1 JEFF-SW TC3-W IRELESS
£%127.0.0.1 (Local Probe)
= . ) 100 %I [19h10m12s 100 %I[ss_r,]
="Washington JH Ping 2 msec 0% [0s 0% M0
2% WASH-IDF
£4127.0.0.1 (Local Probe)
= ) . 100 %I [19h9m58s 100 %I[sss]
='Washington JH Ping 2 msec 0% [0s 0% M0
8 WASH-MDF-1
£4127.0.0.1 (Local Probe)
= ) . 100 %I [19h10m5s 100 %I[385]
='Washington JH Ping 2 msec 0% [0s 0% M|0]
8 WASH-MDF-2
4127.0.0.1 (Local Probe)
»
= . 100 %I [19h8m11s 100 %I[384]
='Washington JH PING 6 msec 0% [0s 0%Mo)
»
B W ASH-SWTC1-WIRELESS
£$127.0.0.1 (Local Probe)
»
= ) 100 % [19h8m18s 100 % [ll| 384
= Washington JH PING 4 msec 0% [0s 0% M|0]
»
B W ASH-SWTC2-W IRELESS
£$127.0.0.1 (Local Probe)
»
(I . 100 % [19h8m20s 100 % [ll| 384
=" Whitmer CTC Ping 2 msec 0% [0s 0% M|0]
»
&8 CTC-IDF-101
E 127.0.0.1 (Local Probe)
»
(I : 100 % [19h8m27s 100 % [ll| 3841
=" Whitmer CTC Ping 2 msec 0% [0s 0% M|0]
»
&8 cTC-IDF-102
£%127.0.0.1 (Local Probe)
»
(I ) 100 % [19h8m34s 100 % [ll|384]
= ' Whitmer CTC Ping 20 msec 0% [0s 0% Mo
»
58 cTC-IDF-2
£%127.0.0.1 (Local Probe)
»
(I ) 100 %I [19h8m41s 100 %I[384]
= ' Whitmer CTC Ping 1 msec 0% [0s 0% M0
&2 CTC-IDF3
E 127.0.0.1 (Local Probe)
I ) 100 %I [19h5m48s 100 %I[sss]
=" Whitmer CTC Ping 1 msec 0% [0s 0% M|0]
2% CTC-MDF-1
£%127.0.0.1 (Local Probe)
(T . 100 %I [19h7m47s 100 % 384
=" Whitmer CTC Ping 2 msec 0% [0s 0% M|0]
28 CTC-MDF-2
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. Average Uptime Good

Probe, Group, Device Sensor Total Downtime Failed
£%127.0.0.1 (Local Probe)
(=T 100 %I [19h8m30s 100 % M[1384]
=" Whitmer CTC PING 0 msec 0% [0s 0% M|0]
=5 CTC-SW TC1-WIRELESS
£4127.0.0.1 (Local Probe)
T 100 %I [19h8m37s 100 %I[384]
=" Whitmer CTC PING 1 msec 0% [0s 0% M|0]
=5 CTC-SW TC2-WIRELESS
£4127.0.0.1 (Local Probe)
=S 100 %I [19h8m44s 100 %I[384]
=" Whitmer CTC PING 3 msec 0% [0s 0% Mo
=5 CTC-SW TC3-WIRELESS
£$127.0.0.1 (Local Probe)
»
N 100 %I [19h9m56s 100 %I[sss]
=5 Tran-Maint PING 1 msec 0% [0s 0% M|0]
»
£2 TRAN-MDF
£$127.0.0.1 (Local Probe)
»
= 100 % [19h6m7s 100 % M[1384]
=5 Tran-Maint PING 1 msec 0% [0s 0% M|10]
»
51 TRAN-SW TC-W IRELESS
£$127.0.0.1 (Local Probe)
»
= . . 100 % [19h6m10s 100 %I[384]
=" Administration Bld
Ifl 9 PING 0 msec 0 %I [0s 0% M0
I:IADMI—Barracuda—OH
E 127.0.0.1 (Local Probe)
»
= o ) 100 % [19h6m15s 100 % M[1384]
= Administration Bldg HTTP 189 msec 0% [0s 0% Mo
»
DADMI—Barracuda—Oﬂ
£%127.0.0.1 (Local Probe)
»
= . ) 100 % [19h6m17s 100 % M[1384]
= Administration Bldg PING 0 msec 0% [0s 0% Mo
»
[[JaDMI-Barracusa-012
E 127.0.0.1 (Local Probe)
=T 100 %I [19h6m22s 100 %I[384]
= Administration Bldg HTTP 187 msec 0% [0s 0% M0
DADMI»Barracusa-mZ
E 127.0.0.1 (Local Probe)
=T 100 %I [19h10m24s 100 %I[sss]
= Administration Bldg PING 4 msec 0% [0s 0% M|0]
£2 ADMI-IDF
£%127.0.0.1 (Local Probe)
T 100 %I [19h9m21s 100 %I[385]
= Administration Bldg PING 2 msec 0% [0s 0% M|0]
=D ADMI-MDF
£4127.0.0.1 (Local Probe)
T 100%' [19h10m17s 100%'[385]
=5 Administration Bldg PING 2 msec 0% [0s 0% M|0]
52 ADMI-MDF
£4127.0.0.1 (Local Probe)
= o ) 100 %I [19h9m54s 100 %I[385]
='Administration Bldg PING 1 msec 0% [0s 0%Mo
= ADMI-SW TC1-W IRELESS
£4127.0.0.1 (Local Probe)
»
T 100 %I [19h6m14s 100 %I[384]
='Administration Bldg PING 3 msec 0% [0s 0% Mo
»
= ADMI-SW TC2-W IRELESS
£$127.0.0.1 (Local Probe)
»
= . ) 100 % [19h9m28s 100 % M[1385]
= Administration Bldg PING 0 msec 0% [0s 0% M|0]

»

==l wls-co
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